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CHEAAEX 249 101,140 153,930 A52,790
A S 2tel 101,140 153,930 252,790
2 setel 101,140 153,930 A52,790
201 et 63,056 84,000 A20,944
02 2523l 63,056 84,000 220,944
Ol=322 ¢ HAl 63,056
OU=SA&E It &Ies
4,700& = 1,1188 * 128 63,056
401 Al&HI YL S OHYI 38,084 69,930 A31,846
01 Al&H| 35,865 69,930 A 34,065
O[Al&HI] 35,865
osaH JI2s RANE=+
90,000& * 750 * 20% 13,500
OU=4tE 2SS AL Wi
4,320,0002 » 30HA 12,960
OUH2 &t It = BZJ uA
1,881,000& * 5JH 2 9,405
03 Al£=R0iHl 2,219 0 2,219




SA: AL
HH: (2AACK 29
CHo ARITHT| 22

SN H - SR(EH) - NPAMY - BES 0fl &t o
OUgad S8 s AXSA 20U
180,000,000 * 0.72% 1,296
OUEs&H H2E “FAIEUH UL
45,000,000 * 1.08% 486

OUs4aH Jt2s |RAUE+ 20
48,500,000& * 0.90% 437
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